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Wﬁ#:

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vi)

7 36 ¥¥7 & | g9 yvT Hfar & |
IOF J97 & 3% F97 & G RT T E |

¥97 §& 1§ 16 7% Tglaacdiy 397 -TF 3% & & | JodF Jglascdid
YT & G IR fawey fGw 70 & 1 TE fAFey @ S Iui-ghar &
fefaw |

97 G 17 T 29 aF & Y97 diA-ai7 6F & & | T @ I9F I I
IR 80 VI @ YT FT @ ET TRT

597 G 30 G 34 TF F §vT aN-°K 3FH & & | 399 § FAF 9T
IW 100 V=l § s F 78 &1 =Ry |

v7 G 35 FAT TE Y99 2 3% F7 Ierg 4@ 8 3K yIT & 36
gy G JvT 8 3% F T 8

W §T gAE @ 39 FW-YRaw & 37l Gord Fg |

General Instructions :

(i)
(ii)
(iii)

(iv)

(v)

(vi)

(vii)

32/2/1

There are 36 questions in all. All questions are compulsory.
Marks fdr each question are indicated against the question.

Questions from serial number 1 to 16 are Multiple Choice
Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

Questions from serial number 17 to 29 are 3 marks questions.
Answers of these questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History
and Question number 36 is a map question of 3 marks from
Geography. '

Attach the filled up maps inside your answer book.




1. frafafea d@fd § ¥ 6o oid 99 & 06 @0 ¢ & 3= el 2

(A) fag=r dfy
(B) =uig & dfy
(C) ¥= w7 dfy
(D) 1832 F FEAqFA Hfy
AYdl
frafafea & & e gel T=Ieq & F T R 7@ 8 2
(A) T8 sided 1939 H Y& ga |
(B) T WS Seel &7 H 9 AwnrEr el | |
(C) W N I IFER WA @R % A & g F oFf |
(D) 9 QA % g5 T W S 9 |
Under which one of the following treaties was Greece recognised as
an independent nation ?
(A) Treaty of Vienna
(B) Treaty of Versailles
(C) Treaty of St. Germain
(D) Treaty of Constantinopole of 1832
OR
Which one of the following is mot the characteristic of Hoa Hao
movement ?
A It began in 1939.
(B) It gained great popularity in Mekong Delta area.
(C) It was led by officials at the imperial court.
(D) Huynh Phu So was a founder of tlﬁs movement.
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2. A TP & frefafed § @ &9 TE FUE A1 ?

(A)  AeTH

(B) @@l w ugl s gg Afeen
(C)  ffn

(D) T ¥ & T

g

frafafaa # ¥ a4 fogaam & Too@ &1 sz fale a1 2

(A)  wF &% ¥

(B) . femm fe=men
(C) wH 9 =
D) TETEA

Which one of the following was an ‘allegory’ of the German nation ?
(A) Marianne
(B) Blindfold woman
(C) Germania
(D) None of these
OR
Who among the following was intensely hostile to the monarchy in
Vietnam ?
(A) Phan Boi Chau
(B) Liang Qichao
(C) Phan Chu Trinh

(D)  Huynh Phu So
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3. Yug gww o wOe @ ffafed § @ @mE ows 9@ ? 1

(A) W T

(B) ¥ilha el

(C) e E®

(D) g9¥ I= A

Who, among the following, was the author of the famous book ‘Hind
Swaraj’ ?

(A) Mahatma Gandhi
(B) Shaukat Ali
(C) dJawaharlal Nehru

(D) Subhash Chandra Bose

4. frfafed § § feg 1930 & fordi & ‘<fid o Tafguee & @fsd fenm 2 1
(A) =izt T
(B) . LR =T
(©) Tk

(D)  3Teeild WA TS]

Who, among the following, organised the dalits into the ‘Depressed
Classes Association’ in 1930 ?

(A) Kanshi Ram
(B) Dr. B.R. Ambedkar
(C) Gandhiji

(D)  Alluri Sitaram Raju
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5. feume wew # witeRer & 9 gEd et § fefafed § 9 S99 R-gewEd
ol & WET & SR fhar S § 2

(A) IR Fe
B) T el
(©)  wEd Tl
(D) Y& Sl

Which one of the following non-conventional sources of energy is
harnessed in the Parvati Valley near Manikaran in Himachal
Pradesh ?

(A) Solar Energy
(B) Tidal Energy
(C) Geothermal Energy
(D) Wind Energy

6. frfafga & ¥ @1 T SO G99 9<1 9@ H ST B God Sl @ 2

(A) ¥t I A
(B)  S[g/9HA I@M
(C) WM 3@
(D) T 3@

Which one of the following industries generates the largest amount of
employment ?

(A) Cotton Industry
(B) Jute Industry
(C) Silk Industry

(D) Textile Industry
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7. ofm RyH & fefafad @@ § @ e a9 wemn 9@ 8 ¥ SR 7 2 1
(A) feoelt 3R wicTehm
(B) feoelt 3R AR
(C) feoeht iR g
(D) SR 3R FHAFER

Which one of the following groups of terminal stations is connected
with National Highway No. 8 ?

(A) Delhi and Kolkata
(B) Delhi and Amritsar
(C) Delhi and Mumbai

(D) Varanasi and Kanyakumari

8. frfdfed wmdl # ¥ FE die-319 & fald & deof § 97 &1 Go9 Tewyul wHa

o2, 1
(A) = HTAR TEA

(B) wmimsT gwa

(C) faumard=4 uwd

(D) 9NEY T

Which one of the following ports is the premier iron-ore exporting
port of the country ?

(A) New Mangalore Port
(B) Marmagao Port
(C) Vishakhapatnam Port
(D) Paradip Port
9. frafafad wewi & § FEr aeo ol sEfy 9 steeH § S @ 2 e
(A) T e FF TR W SHRT B ¢ |
(B) 3 oEeH fFdt @@ g2 W nufd @ ¢ |
(C) & ISl H Iged a87 WY e @ |
(D) T FE TF T 4G o 2 |
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Which among the following features is related to the long term
movements ?

(A) They are multiple issue movements.
(B) They are issue specific movements.
(C) They have a clear leadership.

(D) There is no single organisation.

10. fy=fafad 9 & © 59 & & Us-collg aer & ?

(A) FuHT
(B) I
(C) =M
(D) SmH

Which among the following countries has a one-party system ?

(A) U.SA.
(B) UK

(C) China
(D) Japan

11. WAdites 3o # ToHifas gaRi & an] &= § frefafed § § S w9 st
T & ?

(A) S REeE

(B) SqT & G I
(C) Hdwfrs wfeds
(D) & guR

Which one of the following is a better way to carry out political
reforms in a democratic country ?

(A) Legal changes
(B) Empowerment of people
(C)  Constitutional changes

(D) Legislation reforms

32/2/1 8



12, frfefad ¥ 3 S0 T RN SFEE SR S 9 g @ wetud @R 2
(A) T Aedite s 3R sxarl H AsEd SA # |
(B) ¥ & WEA W fEam FH § @ & |
(C) disEr MR-elehaityss I e & i |
(D) UF §9Y Y1 HOR YA FEEA FH TG FAT
Which one of the following is not a feature of foundational challenge ?
(A) It involves strengthening of the institutions and practices of
democracy.
(B) To keep military away from controlling government.
(C) Bringing down the existing non-democratic regime.
(D) To establish a sovereign and functional state.
13. freifefian & & awq fafma woreh @ s ffoEer Sy & 2
(A)  T§ WHE F9R & Ed F R |
(B) Ig =it faui & 9mifss & & %homd et ¢ |
(C) 5% T sTavasanst & e FAN HEYEF ¢ |
(D) & T WA W 2 |
. Which one of the following is an essential feature of barter system ?
(A) It promotes local market.
(B) It spreads social field of an individual.
(C) It.requires double coincidence of wants.
(D) It is an easy way.
14. dvdfieo & Frafefad & ¥ fhg @R & 2w afus wfed ge € 2
&) s
(B) & I
(C). fowrasha 2w
(D) fosfa 2w
32/2/1 9 P.T.O.
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Which one of the following type of countries has been more benefited
from globalisation ?

(A) Rich countries
(B) Poor countries
(C) Developing countries

(D) Developed countries

15. dvdiwor § fefafed § 8 g g 3am & 9 emend ogar 8 2
A) IR

(B) faeia s=m
C) e
(D) dHe

Which one of the following Indian industries has been hit hard by
globalisation ? '

A LT

(B) Toy-making
(C) Jute

(D) Cement

16. foefefad #ef § ¥ fFg W AE.0H.37%. v fOg &1 3 g Smar @ 2
(A) uadst. fafess

(B)  3mquor
(C) =
(D) FEE 3T

On which one of the following items is I.S.I. used as a logo ?
(A) L.P.G. Cylinder

(B) Jewellery

(C) Gold

(D) Agricultural products
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17.

18.

19.

20.

21.

3ofah 11 P.T.O.

AT H 1848 & ‘IIRANCA Ht Hifer & FHEG H GUA HIC | 3
AT
TR T W IW A e # FEed & fau wedfE g few T et dim
TGl & qUiH ST | 3x1=3
Describe the impact of ‘The Revolution of the Liberals’ of 1848 in
Europe.
OR
Describe any three steps which were taken by the French to suppress
the movement inspired by the Huynh Phu So.
TPaR H gE T H sfee @ qreaten e ver @ TR 2 Sqewl fed
Wy FHIfST | ax1=3
How was history re-interpreted in creating a feeling of nationalism ?
Explain with examples.
R el 9RG F AT 99 G An § Y yeR o5t ¥ dehE & @ 8 ? W
HINT | : 3
How is solar energy becoming popular in rural and remote areas of
India ? Explain.
“BH el & 31U Wffa GEEHl & ST ST % AU WEEEgel UM YA
BT 17 39 &9 &I A ST Gied g FT | 3x1=3
“We have to adopt a cautious approach for the judicious use of our
limited energy resources.”  Support the statement with three
examples.
“fordl TF W F IR SR F WG 39S NS TG F GES 2 17 39 B
F Iy 9 T dfead HINT | v 3x1=3

“Advancement of international trade of a country is an index to its
economic prosperity.” Support the statement with three arguments.



22.

23.

24.

25.

26.

27.

28.

29.

TSHIfo® T fF9 YR ST & TF F1 ®Y YOF 4 ¢ 2 O 3Rl §fitd WE
Fiferg | 3x1=3

How do political parties shape the public opinion ? Explain with
three examples.

Alhdies I Faed 5 yer gmifee fafayasi § arsa wiftg = § 994
§ ? i el wfed wE FifT | dxl=d

How are democracies able to accommodate social diversities ? Explain
with three examples.

TR F ST AeiE TER F e @9 i F e #w 1 3x1=3

Explain any three merits of democratic governments over the
dictatorship.

A ABdis Faesl & T AT qA I gHad B WY FC | IxI=3

Explain the three major challenges faced by modern democracies.

“mmﬁﬁeﬁmqﬁ,a@qﬁﬁaﬁrﬁmﬁﬂﬁmél”aﬁﬁmiﬁg@
39 $99 & IfF SIS | 1< 1_=

“Whether credit would be useful or not, it depends on the situatlons.
Give two different examples in support of this statement.

“oRd & AT S vEd & F endt o sifemiw e WfER w8 & fowoww &
R A R R E 7 5 w9 W Y A SRwl # oAeg ¥ #INT | 3x1=3

“Most of the poor households still depend on the informal sector for
loans, both in rural and urban areas of India.” Support the statement
with three examples.

I H YR Qe IS B T A FRH Dl AT FNT | 3x1=3

Explain three factors that gave rise to consumer movement in India.

FE H  IUGREE @ Sﬂwmmumqloﬂm%7ﬁhmﬂﬁﬂﬁﬁw
FHifera |
ax1=3

How are the consumers exploited in the marketplace ? Explain with
three examples.
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30. “1830 F TUE WU § 4R NfIe Hfeasar o 31 |7 IR ISR S 39 HA

ﬁg@?ﬁﬁlﬁl 4dx1=4
HAGAT

SUE R A9 3 feTm % uyafedl @ fraam @ s # weed ¥ fou

feg yeR IRG frar 2 =w =ifST | 4

“The 1830s were years of great economic hardship in Europe.”
Support the statement with four examples.

OR

How did Japan and China inspire Vietnamese nationalists to drive
out the French from Vietnam ? Explain.

31. 3THEAN EE % SNF M WU S [SH Teedl H enfeardt fFuEl & gt
WE FHIfT | 4

Explain the role played by tribal Iﬁeasants in the Gudem Hills of
Andhra Pradesh during the Non-Cooperation Movement.

32. 9T ¥ SEIfE THEA 99 # RY YR Wefid e § 2 39 el ¥ R =R
T & WE FIC | 4x1=4

How do industrial units pollute air in India ? Explain any four points
in this regard.

33. “UE-TE IR IMRAH TSI W FE-FE 0@ ¥ IR e@d & |7 R IR ade
F WY FC | 4x1=4

“Pressure groups and movements exert influence on politics in a
variety of ways.” Explain any four ways.

34, Aoy sk st ¥ qaE ¥ 9PE B e B R AR A0S ¥ = w9
yfed fear @ 2 W ST | dx1=4

Explain four ways in which ‘globalisation’ and ‘the pressure of
competition’ has changed the lives of workers substantially ? Explain.
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35. © TR — A 3R B, WRA & fu T qHifas W@-aEt (I8 17) | 3ifed fro
T § | 3T Ol S Frefafad SHEd @ Ao ¥ TgET 3R 3% §E AW gt
R g 7 et w fafe 1+1=2
A 9% WH, SE fEER 1920 § 9RdE TP FE9 F SAavE g av |
B. 98 WM, S@ Sfadaen ar SS9 |
srgar

frfafed 7af & WRE & ST 1T 36 Torifos @AM (98 17) | 39 gl
3 sifer g sk 3% T ey 1+1=2

(i) TRT — W€ W SR ¥ A w Ed S e e @ ke e e
a7 |

(i) SR — T8 TWE SR ¥ T T I B A T I 1 |

Two features — A and B, are marked in the given political outline
map of India (on page 17). Identify these features with the help of
the following information and write their correct names on the lines
marked in the map :

A. The place, where Indian National Congress Session of December
1920 was held.

B. . The place, where Jallianwala Bagh incident took place.
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India (on page 17) :

) Champaran — the place, from where the movement of Indigo
planters was started.

(i) Bardoli — the place, from where ‘No Tax Campaign’ was started.

36. o7 wRIT— A, B 3K C, WRA % U MY ToHITTS @A (J8 19) W 3ifEa
fFT T | T vl B frefefed el # 9e ¥ YREHT 3R 3% §el AW
Aty W @R T8 e ) fafau Iwlnl=3
A, TEer @F
B. HRam Sl ae

C. E-ufvem TR & = ©IH
Frea
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frafafad wdl @ wRa & U T g Teeifas @r-aEtE (Y2 lg)macrg?s'ﬁa’f

¥ 3iffd FNY 3Rk 39 AW fafey 1+1+1=3
(i) §om — o iR T g6

(i) HHTUT — TRET e 49

(iii) 9NEY — FHE Yo

Three features — A, B and C, are marked in the given political

outline map of India (on page 19). Identify these features with the
help of the following information and write their correct names on
the lines marked in the map :

A. Coal mines
B. Software Technology Park

£ Terminal Station of East-West Corridor
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India (on page 19) :

(1) Salem — Iron and Steel Plant
(ii) Kakrapara — Nuclear Power Plant

(iii) Paradip — Sea Port

e : frefafaa 397 @9 giFgia wiandat & 0 J97 T& 35 3N 36 & &
WE:

Note : The following questions are for the Blind Candidates only, in
lieu of Q. No. 35 and 36 :

35. (35.1) 3W WM & AW JARY, &l IR TPF F9 F AfbEyE fegag 1920 #
g3 a1 |

(85.2) 39 I & A dq3Y, @l Aferdraren o g4 92 4t | 1+1=2

(35.1) Name the place, where the Indian National Congress Session ‘of
December 1920 was held.

(35.2) Name the city, where the Jallianwala Bagh incident took place.
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36.

(36.1)
(36.2)
(36.3)

(36.1)
(36.2)

(36.3)

FA9 dier 3R TG 9T 59 s o fad @ 2
3G ST F 99 12T, & HETIN ST T g97 fead 2
TR W T e T § few @ 2 1+1+1

In which state is Salem Iron and Steel Plant located ?

Name the state, where Kakrapara nuclear power plant is
located.

In which state is the Paradip sea port located ?



For question no. 35 ¥39 €. 35 & fau

Outline Map of India (Political)
ARA & 1@T- WA (TAHiden)

¥ o W s - ™ « o

Scale 1:17,000,000 1cm = 170 kms
Lufg‘}orl canleul"omu-'”niuphlc Projection .
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For question no. 36 Tv7 ©. 36 % fU

Outline Map of India (Political)

A B e i o C o
k 2 : P PR N ¥
)Q_:'."“""I"‘- 1, i ‘.if"u \a) J.* Aprt ’f(.) gl 4 2

-2

oy

WRA &1 3@T-AFeH (TeEidae)

‘Er B Tt oW “ n -4 o

S R W

Scale 1:17,000,000 1em = 170 kms
Lorl;l'borl Conical Oﬁhn.-{rpwhlc Projection i
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